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one of the langu isted below :
English, Hindi , Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, M uri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
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ECONOMICS

FYITA
(318)
Time : 3 Hours] [Maximum Marks : 100
gy ;3 "ol [quie : 100
Note : (i)  All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.
(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
et 0 () [W ueAl & SR IRl
(i) YA® UT & GET Tk oh IO Y |
(iii) 997 €@ 1 ¥ 10 d% & Y&b 99T ¥ =@ fabed — (A), (B), (C) aur (D)
g, o ¥ e 999 SugE 5| AW [geedl W 9 9 IaX gd qor STuel
JT-GRaBr H W € % AMd g fue| Sg-faeedt weAl & fog
HAfaie wwa @ fean s
1  The correlation between @ce and supply of a commodity is...... 1
(A) Positive S (B) Negative
(C) Perfect Q’ (D) Linear
wmﬁﬁ@a&%ﬁaﬁawugﬁm%—
(A) g9ITHD (B) =omH®
(C) qut (D) e
2 Production Possibility Curve shifts to the left when - 1

(A) there is growth of resources

(B) there is fuller utilisation of resources
(C) there is depletion of resources

(D) there is under utilisation of resources

IAET T9TET o6 S ofX Ragepat &, o9 —
(A) wareEt o wghg oxit &

(B) ©HTEHl @ qUiqar IUERT BT §

(C) damed &Y & o &

(D) wETEAl H 9 SUART BT §
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3 A consumer consumes only two goods x and y. Which of following is a 1

condition of consumer's equilibrium?

(A) M.U =M.U, (B) M. U, xP, =M .U, xP,
M.U, M.U, M.U, M.U,
© 3 b, ®) ~p P

Teh YA Had &l TG X ST y BT STHRT HIAT & | FAtarad 9 & B 1 STHRT b
I Dl 9§ 7

(A)%ﬁ.t{x=é’r.3y (B)%ﬁ.sxxa%ﬂax=%ﬁ.3yxa§’mﬁy
@.3,  W.T, @ .5, W.T
© AT, HEd, (D) BAd, B,
4 APP increase when - 1

(A) MPP increases

(B) TPP increases

(C) MPP is greater than APP
(D) MPP is positive

(C) drwia i s, diwa s Sag & efue e &
(D) ¥ e, SAIE gD T &

5  Rightward shift of supply curve takes place when - 1
(A) Price of the goods rise (B) Prices of inputs fall
(C) Prices of inputs rise (D) Excise duty is increased
TR T T o Rawd ¥, v -
(A) g & B Tl B (B) el B wma ged 3
(C) ormeTsti & HHd Sedl & (D) IUET & Sodl §
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6 A firm is a price taker under - 1

(A) Monopoly (B) Monopolistic competition
(C) Oligopoly (D) Perfect competition
T BT THRD ¢
(A) TmgHR o (B) Ut Siaaifi o
(C) oreafyer o (D) gur wfcEiRar &
7  The difference between net value added @ M.P. and net value added 1
@ F.C. is called...
(A) Subsidies (B) Indirect taxes
(C) Net indirect taxes (D) Factor income from abroad
IR e WX o e €gha ol 918 @ W) Fad 9w dgig &1 =ik
(A) onfdie TEm™aAr wed § (B) W@ BT Hewl &
(C) Traw ev@e &Y HeEar & (D) Tt & @YUM ST el §
8  Which of the following is a non-factor income? 1
(A) Taxes (B) Bonus
(C) Dividend (D) Wages
frrfafad 9 &M | e o 2 7
(A) & (B). FrFE
(C) s S (D) =wigdl
SQ\
| S |
9  Bank rate is the ra@at which R.B.I. gives loans to : 1
(A) Public Q\Q (B) Central Government
(C) State G@ernments (D) Commercial Banks
d% X I% W ¢ | gede Suw <@ B
(A) ST B (B) %3 GBI &I
(C) T~9 "R & (D) i St @l
10 Which of the following is a Capital Receipt? 1
(A) Borrowings (B) Recovery of loans
(C) Disinvestment (D) All of the above
Preaferfiad & ® G Yo wiRe & 7
(A) == (B) it & ageh
(C) fafrasr (D) Sy gl
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11  Explain the equilibrium level of income with the help of S = I approach. 3

Use diagram.

S =1 fafyr =1 Ferar ¥ o & HIT WX Dl AT DI | [T BT ITART HIFSTT |

12 Distinguish between Average Propensity to Consume and Marginal Propensity 3

to Consume.

3fEd IUART Ygia o €Mia SUHRT 9gia § Sfa¥ Iyl

13  Explain the circular flow of income. 3

T & ThId YETE Bl ATl HINT |

14 Explain with the help of examples the difference between explicit costs and 3

implicit costs.

TSRO I FEdr § WE ANl i} Sfafired ORIdl & 19 8TX @l STET HIfT |

15 Price elasticity of demand &f goods x 1s.— 1.5. If its price falls by 10 percent, 3

calculate the percenta%&?lange that will result in its demand.
N
Wxﬂ%ﬂﬁﬂ%{@%a‘m—l.s%wﬁsﬂaﬁaﬁﬂa 10 yfqerd gedt &, ar 3@

whﬁﬁmmu@%qﬁaéﬁéﬂﬂ?qﬁ‘m?aﬁﬁm
S

16 State any three properties of indifference curves. 3

MM Iehl B Bz A [FAVad gaEy|

17 Give the meaning of : 3

(i) Budget set and (ii) Marginal rate of substitution
Frfafad & ot IaRT -
(i) s < X (ii) wiaramos @ 9| X
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18 State the difference between Micro Economics and Macro Economics. 3
Give examples.

Y e ok Tufy srefeme & S X SARU| ISRV AT

19 State three causes that give rise to economic problems. 3

s gEETel & S B % Al B Saisu|

20 State the meaning of absolute and relative measures of dispersion. 3

UfeRToT & TRUeT ofiT Arder AT @t oref syl

21 Calculate mean by assumed mean method from the following data. 4
Frefatea sffwsl & ormita Ares fafy g1 A &1 uiepad Hifvg)
Marks i 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Number of students 12 16 19 18 15
faeni¥at @1 d@en

22 Explain the relationship between Total Physical Product and Marginal Physical 4
Product. Use diagram.

Fd Wi I X A Hifie Sae | dee @l AT Hifvg | {@ias &1 TR

B |
N

K\Q

23 Explain Law of de@ with the“help of Law of Diminishing Marginal 4

Utility. &Q’G
thﬁaq@weﬁnﬁmﬁmaﬁwﬁm|

24 State the difference between Stocks and Flows. Give example. 4

~

Wi (WUSR) 8K Yare § ¥ Sare| I g |

25 Explain the relationship between : 4
(i) MPC and MPS and

(i) MPC and Investment Multiplier
Frfafaa & S d@dY @ e Hivg
(i) #WIW &R Fa¥. R
(i) @39 X Faer T
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26

27

28

29

65/ESS/4-318-A ] 7

Explain with the help of examples the basis of classifying government receipts 4
into revenue receipts and capital receipts.

SETEXON B TR ¥ GBI WRadl & o Wiadl ofk ginma wiaat o arfiea
HT B HER T

Following table gives the marks obtained in English and Economics by 6
5 students :
1 2 3 4 5
Marks in English 35 90 70 40 50
Marks in Economics 45 70 65 30 60

Calculate Rank coefficient of correlation.

frfafaa arferesr 5 faenfal o oiUeh ofi erdomer o e 3 9Tl ¥

1 2 3 4 5

3 ® ofem 35 90 70 40 50
adferey W i 45 70 65 30 60
HH e Tl Bl qehed DI |

o \®®
Dislinguish betwee Q§ 6
(i) Direct Tax@‘ Indirect Tax
(i1)) Fiscal cit and Primary Dificit
Preaferfias ¥ ¥ Hif
(i) v H ST ST BT
(i) ToBNE-EET 8} Wrafhe =reT
Explain the following features of Monopoly market : 6

(i) No close substitutes (ii) No to entry
THITIHR S Bl Frfaiaa fasioarett @ @men Sy
(i) e WA= &1 o1 (ii) 999 § TahEe
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30 From the follwing data calculate National Income by expenditure method : 6
< (in crores)

(1)  Change N SOCK ....ccceeevieriiieeiierieeie et 200
(i1)) Gross fixed capital formation..........ccccceeevveeciiieniieeennnnn, 1,800
(111)  EXPOTLS 1neviieeiiieeiie ettt 600
(iv) Government final consumption expenditure.................... 3,000
(V) IMPOILS ceeieiiiieieiieee ettt e e e e e ee e e 700
(vi) Consumption of fixed capital........cccceevvviiiiniiiinniieeieenee, 300
(vil) Net INdIreCt taXES ..ececvvvvrieeeiiiiieeeiiiieeeeeeieeeeeecireeeeeeireeeeenes 100
(viii) Private final consumption expenditure ..............ccccoeeueeen. 6,000
(ix) Wages and Salaries ........cccceevveeeriieeeiiieeeiie e 8,000
(x) Net factor income from abroad ...........ccccceeevuviieeennnnenn. (-) 20
frafaiea sfiws! @ =ag fafy a0 e oM & afieed &g
R (0=t o)
(i) TB AT oo 200
(i) Fda R GOl FAIT g 1,800
() T e e 600
(iv) TEBR S SUMRT S oo 3,000
(V) BTTATE oottt ee e et eeeeeiiiiie e e e eeeeeeeaaebaieeeeeeeeeaansssnennnee it eanaaenns 700
(vi) ReT G BT TUHT oo i 300
(VD) 8 STIRE BT .oeiiiiiiiiiiiiiiiiee e i e e 100
(viii) ol ST SUMT S .ol e 6,000
(iIX) ATGU BT FTT wevvrererenrerererereereene b b et 8,000
(x) fagsm & ™A@ WET S o e (-) 20

31 Explain the meaning of@ﬁe elasticity of supply. Explain any two factors 6
that affect it.

mﬁﬁmﬁa@ﬁm|mwﬁama@ﬁﬁﬁw@faﬁ T
Wl Q‘Q\

32 From the fo%owing data compute Paasche's Price Index Number for the 6
current year.

frefaiea siies! @ Jafad a9 & fqQ 91t & g ghBE Bl AT DI

Item Base Year Current Year
T SICIER LEIEcHER]
Price Quantity Price Quantity
I AT o HET
3 3
A 5 7 15 20
B 15 20 25 40
C 10 50 10 50
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3 Iu-giaw ¥ wsam-fag g srerer fafdse et & eifaiied wel Y srmHie faes ux gt @ e
SELAT S

4 U SA-gRAe T 999 &l @rs °. 65/ESS/4, ﬁz--%@"l

5 (®) WU ha [Ed)/SFs qreay ¥ | e o, afy ey o @ T & 1 feRdt wen wron S € @b §:

sy, &, o, U, den, qfe, Ao, e, dq, e, Sfen, e, e, qfgd,
ST, AT, B, Teepd i e
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ECONOMICS

FYITA
(318)
Time : 3 Hours] [Maximum Marks : 100
g ;3 "] [quies : 100
Note : (i)  All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.
(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.
et 0 () [W ueAl & SR IRl
(i) YA® UT & GET Tk oh IO Y |
(i) 99T @& 1 ¥ 10 T & YdAd W ® A Thed — (A), (B), (C) @am (D)
g, v @ ue gew Suge ¥ Ow) foeedl ¥ @ w1 IO g qun erue
JT-GRaBr H W € % AMd g fue| Sg-faeedt weAl & fog
HAfaie wwa @ fean s
1  APP increase when - K\Q 1

(A) MPP increase{s§)

(B) TPP incr@\&s

\)

(C) MPP is greater than APP

(D) MPP is positive
(A) S Hifde SAE gedT §

(B) P& Hifus SdE Ioa1 ©
(C) dmia Hifqe S, oima «Hifas Sag o o & @
(D) dHiq Hifde SAE gD BT §
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2 One of the assumptions of production possibility curve is - 1
(A) Resources are fixed.
(B) Technology can change.
(C) Resources can be more efficiently employed.
(D) None of the above

SR GHIGAT 6 &l T 9raal §

(A) waEE Rem ¥

(B) WMl s5d Tl Bl

(C) HHETeei @l oifds HI@ar & YA fpar S wehar o
(D) SWEd § ¥ @3 T

3 A firm is a price taker under - 1
(A) Monopoly (B) Monopolistic competition
(C) Oligopoly (D) Perfect competition
HH B WIBRE &
(A) THITER o (B) uHTHHHS TiditEr §
(C) ST | (D) vof gfcratfirar o
4  The correlation between price and supply of a commodity is...... 1
(A) Positive (B) Negative
(C) Perfect (D) Linear
TH I B BEd R YR & o qeEdy T 3
(A) oD (B) « FTeT®
(€) ot (D) X
5 Supply curve of a goods}\@x shift due to... 1
the ‘goods

A) Rise in the pri %
EB)) Fall in the pi‘§’of the” goods
(C) Both rise &fall in~the price of the goods
(D) Changesindprice of substitute goods

peaicrs o) g% 3HH BT Ra¥ed ThaT 8-
(A) o @ DEa H g

(B) axg @ dHa T HHI

(C) ag & @Md § gha iR & aF!

(D) WHU I% & dHa o grEad

6  Which of the following is a non-factor income? 1
(A) Taxes (B) Bonus
(C) Dividend (D) Wages
frefatea & & € -aree o 7 7
(A) &X (B) ==
(C) T (D) w1l
65/ESS/4-318-B | 3 BH [ Contd..
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7 A consumer consumes only two goods x and y. Which of following is a 1
condition of consumer's equilibrium?

(A) M.U =M.U, (B) M. U, xP, =M .U, xP,
M.U, M.U, M.U, M.U,
(C) Px Py (D) Py PX

Teh SUHIRIT %had a1 a5 X 31X y &1 SUHNT Har § | FAfarad § & o 91 SUHreRT &
I Dl 9 &7
(A)%ﬁ.sx=@ﬁ.3y (B)?ﬁ.@xxaﬁﬂ@:@r.ayxaﬁﬂa

y
EQI.EX_@T.GY ;ﬁ.gx_@f.ﬁy
©) Fem, @, D) e, wa,
8 Bank rate is the rate at which R.B.I. gives loans to : 1
(A) Public (B) Central Government
(C) State Governments (D) Commercial Banks
% T} I8 W & T\ W % suR T 2
(A) QT Bl (B) Hr FCHIT
(C) =g W@ &l (D) oo Sai @l
9  The difference between net value added (@ M.P. and net value added 1

@ F.C. is called...
(A) Subsidies \Q’® (B) Indirect taxes
(C) Net indirect taxeg\ (D) Factor income from abroad
IR e T ﬁq%ﬁ Tghg efc e @ W Faa 9w dgig &1 o=k
(A) enf¥fem HEATAT & (B) o19e %Y Heddl &

(C) frae sriuer BT weaml & (D) frstt & |em o wEemr

10 Capital receipts can.increase - 1
(A) Liabilities
(B) Assets
(C) Neither assets nor liabilities
(D) Either assets or liabilities

ISR el 91 @bl & -

(A) IF=IREr

(B) uftawaat

(C) ufewfmat ok rafar S & #ig =@
(D) ufmfaar a1 IaaIEr

65/ESS/4-318-B | 4 % [ Contd...

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

11 Explain the circular flow of income. 3

T & ThIT YATE Bl AT DIVT |

12 Explain the concept of normal resident. 3

g amll & sy gEEsu |

13  State any three properties of indifference curves. 3

STATYH bl DI Bls M [ITATd FA15T|

14  Distinguish between Fixed costs and Variable costs. Give an example of each. 3

e @l @i ufEdl @rEl ¥ 9T iUl Yd® Bl Ueh-Udh IaTelvl aInNg|

15 State the difference between Micro Economics and Maecro Economics. 3

Give examples.

Y AT i Tufs orefome & €/ ST AT IRV MU |

16 State three causes that give rise to economic problems. 3
ant¥er Toarel & S %\@ 9 ST FaEy|
Q
Q
17 Explain the equilib@gﬁn level of income with the help of S = I approach. 3
Use diagram. Q\Q

Szlﬁrfhaﬁ%w%m%wwaﬁwaﬁﬁw%@ﬁawWWl

18 State the meaning of absolute and relative measures of dispersion. 3
3TafeRTo & FRYE o |rue 91Y &1 o7 Sy
19 Give the meaning of : 3

(i) Budget set and (ii) Marginal rate of substitution
Frrfafad & otd TRy -
(i) o T X (ii) wfoRemus & 9 X
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20

21

22

23

24

25

Price elasticity of demand of goods x is — 1.5. If its price falls by 10 percent, 3

calculate the percentage change that will result in its demand.

IE X B AN B BEd @ — 1.5 T A 386 B 10 Jiied gl §, g8
AT H fpa wide aitE s ? uieha Hifig |

Calculate mean by assumed mean method.

A Hieg fafy g Arew @l gl By |

Marks 3%

0-20

20-40

40-60

60-80

80-100

Number of Students
faenfiai &1 g

15

20

40

15

10

State the difference between Stocks and Flows. Give example.

~

Wit (YUeR) X Yare § 3idy SdsU| Sl ST |

Explain the relationship between :

(i) MPC and MPS and

(i) MPC and Investment Multiplier

Pt % 4 @t ) e B

(i) WIY. i F?rsug@{

(i) |8 8 ﬁ@;g Tk
N

@Q

N\
Explain with§he help of examples the basis of classifying government receipts 4

into revenue reéceipts and capital receipts.

SEN BT WEAA ¥ TIBI WIiadi bl o il SR gsirTd wiiaal o afid

HA BT SMER IR

Explain the relationship between Total Physical Product and Marginal Physical 4

Product. Use diagram.

Fd Wi I X A Hifies Sae H ey &1 e Hifeg | TS &1 TR

B |

65/ESS/4-318-B |
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26

Explain Law of demand with the help of Law of Diminishing Marginal

Utility.
AT &1 99 EEEE 99| SYARET & 9eadl § g9esy |

27 Calculate Rank Coeffecient of correlation from the following data :
1 2 3 4 5
Marks in English 30 85 80 45 70
Marks in History 40 75 70 55 50
frafaied efids! & %7 Geqary Uit & UNHAT Iy :
1 2 3 4 5
3 H 3fw 30 85 80 45 70
sierd # o 40 75 70 55 50
28 From the follwing data calculate National Income by expenditure method : 6
I (in crores)
(1)  Change 1N StOCK .....ccceviriiiiiiiiiiiiieeeeceeeee e i 200
(ii)) Gross fixed capital formation..........cccccoevvuvevveeneeniiiiin., 1,800
(111) EXPOTLS toeeeiieeiiieeiie ettt ettt e e e 600
(iv) Government final consumption expenditure .................... 3,000
(V) IMPOILS ceeeniiiieeeeiieeeeeeee e e e S e e e e e e eaaee e e 700
(vi) Consumption of fixed capital...........iceeveieniiieiiiieeieeeee, 300
(vii) Net INdireCt taXES .....cccveeeeeiiiees it eeeiireeeeeeiree e e eeireee e e 100
(viii) Private final con%@ion exXpenditure ..........ccoeeveeennennns 6,000
(ix) Wages and s&@;’g& ............................................................ 8,000
(x) Net factor i& e from abroad ...........cccoeeevviiiiiinnnnnn, (-) 20
Prefofian aiagiou @ fafd ara i o @ o Hif
N 3 (@3S )
(1) TIB T ..o 0ottt 200
(i) FBA R TSI T Lo, 1,800
(1) T e 600
(iv) BRI SR FTHRT T v 3,000
(V) BTTT oottt e e e et ee ettt e e e e e e e e e eeabate e e e eeeeeeaesssaanneeeeeaaranees 700
(vi) RET o BT TUHT oo 300
(VID) QI8 STTET BT ooeeiviiiieiiiieeiiiieeeiee e e 100
(viil) el SIfa® SUHRT S .o 6,000
(iX) FGL BT TAT coovriiniieeieeeeee e 8,000
(x) facem & FE@ TMET ST oo (-) 20
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29 Dislinguish between : 6
(i) Direct Tax and Indirect Tax
(i1)) Fiscal Deficit and Primary Dificit
Frfataa & 98 #ifeg
(i) v ®Y 3R v B
(i) TR =Ter 8} wrathe =@reT

30 Explain the meaning of price elasticity of supply. Explain any two factors 6
that affect it.

STYfT 1 BHIFT A BT 31 THART | 3HB! YW BT Al febeel Q1 BTG bl AT
HIFT |

31 Explain the following features of Monopoly market : 6
(i) No close substitutes (ii) No to entry
THIHHR SO DI (AR [I9drel ol Smen iy

(i) Tz U= &1 o191 (i) JAST § HhEae

32 Compute Paasche's Prics\&x Number for current year. 6
Wﬁ%mg@%w‘e@mﬁaﬁwaﬁml
Item Q‘\\Q\' Base Year Current Year
L N AR T Tt a9
Price Quantity Price Quantity
Bl A= HHA A=
3 3
X 10 14 25 40
Y 30 40 35 80
Z 20 100 34 100
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(Friversi & a&em)

General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification'Qf the candidate.

4 Write your Question Paper é&ie%lo. 65/ESS/4, Set— on the Answer-Book.

5 (@)  The Question PaperdsJdn English/Hindi medium only. However, if you wish, you can answer in any

one of the langu isted below :
English, Hindi , Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, M uri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are @ir?d to indicate the language you have chosen to answer in the box provided in the
Answer-Beok

(b)  Ifyouchoose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.

A A

1 &ell 9995 % Ueel IS UX 37U STshHich 1asd fag |

2 PUA UTIH DI o b UT-US % P JOBI qAT YA Sl Al & Hewn & A 9ud gt b FE HuY Bl
T 139 91d & S o BT o o6 U b wUH B

3 Iu-giaw ¥ wsam-fag g srerer fafdse et & eifaiied wel Y srmHie faes ux gt @ e
SELAT S

4 U SA-gRAe T 999 &l @rs °. 65/ESS/4, ﬁz-.%@"l

5 (®) WU ha [Ed)/SFs qreay ¥ | e o, afy ey o @ T & 1 feRdt wen wron S € @b §:

sy, &, o, U, den, qfe, Ao, e, dq, e, Sfen, e, e, qfgd,
ST, AT, B, Teepd i e
mwfgﬁawﬁ%qmamﬁ%@ﬁswﬁwwﬁwmﬁ%
(@ dfe oy T ud sish & arfaftaa fhel o W o SoX faed € 9l @l g9 | B amwil
Ffear | Tafaar st e haw sraw! s
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ECONOMICS

FYITA
(318)
Time : 3 Hours] [Maximum Marks : 100
gy ;3 "ol [quie : 100
Note : (i)  All questions are compulsory.
(il)) Marks allotted to each question are indicated against it.
(iii) Each question from Question Nos. 1 to 10 has four alternatives — (A), (B),

(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

et 0 () [W ueAl & SR IRl
(i) YA® UT & GET Tk oh IO Y |
(i) 99T @& 1 ¥ 10 T & YdAd W ® A Thed — (A), (B), (C) @am (D)
g, 7 9 ue 999 Suged 2| ORI faeedl § ¥ Wel IAX g U Ul
ST-gRaeT H Yed "' &% HEd SuX (o | sg-famedl gedi & fog
HAfaie wwa @ fean s
1 A firm is a price takers&@ - 1
(A) Monopoly §Q§ (B) Monopolistic competition
(C) Oligopoly \Q(b' (D) Perfect competition
w B g
(A) UHTHHR ¥ (B) usmUswRIe® FioaiRar o
(C) orariersr o (D) wof wierifirar &
2 Which of the following is a subject matter of Macro economic study? 1
(A) Inflation (B) Unemployment
(C) Growth of resources (D) All the above
frfafad & & &= @1 wAfR sefar @ fawg &7
(A) T&T Wi (B) S
(C) wamgat &l gfs (D) U Tl
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3  The difference between net value added @ M.P. and net value added 1
@ F.C. is called...

(A) Subsidies (B) Indirect taxes
(C) Net indirect taxes (D) Factor income from abroad
IR Jed WX o ged "gha ol wred @ ) Faa 9w dgig &1 o=k
(A) enf¥er HETAT HEAET § (B) o9 %Y Hedrdl &
(C) Traw ev@e &Y HeEar & (D) fost & @1Y9 o whedml §
4  Which of the following is a non-factor income? 1
(A) Taxes (B) Bonus
(C) Dividend (D) Wages
frefatea & &9 € -aree o g 7
(A) =X (B) s
(C) wmHisr (D) worgh
5 Rise in the price of a commodity results in..: 1

(A) Rightward shift of supply curve

(B) Upward movement along the supply curve
(C) Leftward shift of sup curve

(D) None of the abo éQ\Q
R e@é oo S
(A) Ui % [ 3T Raga T

B) YR A SUT B G S

(C) Ui ah &I & Rage

(D) ST H.H.BE T

6  The correlation between price and supply of a commodity is...... 1
(A) Positive (B) Negative
(C) Perfect (D) Linear
TH TG B BT T YT F T HeESd AT B
(A) gTH® (B) =vmE®
(€) (D) a®
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7  Bank rate is the rate at which R.B.I. gives loans to : 1

(A) Public (B) Central Government
(C) State Governments (D) Commercial Banks
d% 3 98 I § T8 W §% IUR a1 &
(A) ST @ (B) &= BRI @l
(C) T G Bl (D) et St @l
8  APP increase when - 1

(A) MPP increases

(B) TPP increases

(C) MPP is greater than APP

(D) MPP is positive

(A) IFid Hifas IR Todl §

(B) P “ifqs @R Toar @

(C) dmid Hifqe SamE, ofimd Hifas Sa ¥ oife 2 @
(D) dmig e SR GeTEE T @

9 A consumer consumes only two goods x andy..Which of following is a 1
condition of consumer's equilibrium?
(A) M. U =M.Uy B).M.U xP, =M.U xPy
M.U, M. Uy\@&Q M.U, M.U,
© T & (D) ] b
@WWW@%@ X BTy BT STHRT HIaT & | Frfaiad § & o €l IuHewT &
e Bl sﬁ%}
(A) .3, =¥ .3 (B) ® .3, x dmq, = W . I, x B,
.o W LT @ .5, W.T
(©) BIHT, I, (D) BAd, I
10  Which of the following is not an indirect tax? 1
(A) Gift tax (B) Wealth tax
(C) Income tax (D) All of the above
frefaied & @M 91 ode HT ol § 7
(A) IR & (B) wwfd &X
(C) oM &Y (D) Suled af
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11  Give the meaning of : 3
(i) Budget set and (ii) Marginal rate of substitution
Frefefad % oref SamRT
(i) w9 < X (ii) wiamm & dEma X

12 Distinguish between Real flow and Money flow. Also give an example of each. 3

It Yare ok Hifsed Yare ¥ 9g BT | Y & TUh Tk Sarelul o AIRkg|

13 State the difference between Micro Economics and Macro Economics. 3

Give examples.

Y FSme ik Tufy orefeme & S X AU ISRV AT

14 Explain the relationship between average variable cost and marginal cost. 3

Ed gftadl ard ok €9 @ & S Gy ] ATedl diTd |

15 State the meaning of absolute and relative measures of dispersion. 3
STafeRTor o TRder ofiT drder =719 @t ordf saEwl
16 Explain the equilibrium le@el of income. with the help of S = I approach. 3
: Q
Use diagram. S\
S=I%r&:aﬁﬂm%§g’masﬁwwaﬁwaﬁm&wﬁawswmaﬂﬁql
N
N

17 Price elasticity of demand of goods x is — 1.5. If its price falls by 10 percent, 3

calculate the percentage change that will result in its demand.

TE X B T B b @G — 1.5 T A 3@ dEa 10 giaerd gedr &, ar g@e
A o fean wfasta uftadd g ? afee St |

18 State any three properties of indifference curves. 3
ST Tehi Bl Bls dF faVAe IaETl

19 Explain the circular flow of income. 3
T &% T YaTE Dl AT DI |
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20 State three causes that give rise to economic problems. 3

ifer gEETell & S B % Y B Saiu|

21 From the following data calculate mean by the assumed mean method. 4
frafafaa sffesi & oAt wieg fafy gra wreg &1 aftead ity |

Marks i 0-20 | 20-40| 40-60( 60-80| 80-100

Number of Students 15 25 30 20 10

el & g

22 Explain with the help of examples the basis of classifying government receipts 4
into revenue receipts and capital receipts.
SEN D] WETAA § GBI Whdi ol o il i gsierd giiaal o afid
B B SR FIAET

23 State the difference between Stocks and Flows. Give example. 4

~

Wik (YUsR) X yare & ofdy Sd3U| IeeLl ST |

24 Explain the relationship between : 4
(i) MPC and MPS and

25 Explain Law of demand with the help of Law of Diminishing Marginal 4
Utility.

T & w9 SYAREr B gEEar ¥ gHsEl |

26 Explain the relationship between Total Physical Product and Marginal Physical 4
Product. Use diagram.

FA Hiidds IR ST A Hifie Sde H ey %I AT ST | T@Tas &1 TR
B
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27

28

29

30

65/ESS/4-318-C | 7

From the following data calculate Rank Coefficient of correlation.

1 2 3 4 5
Marks in History 40 92 80 50 60
Marks in Economics 50 75 72 35 63
frefaiea efidws! ¥ %A Feawrg TUNe & Uehad HIg |
1 2 3 4 5
ghoem o ofw 40 92 80 50 60
FgeTE H i 50 75 72 35 63
Explain the following features of Monopoly market : 6

(1) No close substitutes (ii) No to entry
THITHHR TR B Frfaiaa faswarsti & samen i

(i) ™ W= &1 3T (ii) AT & Tahrae

Explain the meaning of pg@e elasticity of supply. Explain any two factors 6
that affect it. Sﬁ\

&)
Wﬁ%ﬂ@@ﬁ%@lﬁﬂ%ﬂﬁﬂﬁﬁﬁﬁﬁw@fﬂ% T
B @§

Dislinguish-between : 6
(1) Direct Tax and Indirect Tax

(i) Fiscal Deficit and Primary Dificit

frfartaa § A8 &Iy :

(i) v BT X UL BT

(i) TSN =T SR yrafyes =

% [ Contd...
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31 From the follwing data calculate National Income by expenditure method : 6
< (in crores)
(1)  Change N SOCK ....cccueevieeiiieeiieeieeeie et 200
(ii)) Gross fixed capital formation..........ccccceevvvveviiienieriienncnn. 1,800
(111)  EXPOTES 1netiieeiiiieeiie ettt e 600
(iv) Government final consumption expenditure.................... 3,000
(V) IMPOILS ceereiiiiieieeiieee ettt et e e e e e eraee e e 700
(vi) Consumption of fixed capital........cccccoevvviieiniiiiniiiieieeenee, 300
(Vil) Net INdIireCt taXES ..ocecvvuvereeeiiiiieeeeiiieeeesiieeeeeecreeeeeeieeeeeenes 100
(viii) Private final consumption expenditure ...............cccoecueeen. 6,000
(ix) Wages and Salaries ........ccccecvveeerieeeeiiieeeiee e 8,000
(x) Net factor income from abroad ...........ccccceevuviieeennnnen.. (-) 20
ffaRaa ofiwel @ =g fafr g i o @1 ufeew @ifvg -
3 (@Ust #)
(i) B RETTT oo 200
(i) Fda R GOl FHIT e 1,800
(1) T e 600
(iv) I S SUHIT ST .ol 3,000
(V) BTTAT oottt ee e et eeeeiiiiie e e e eeeeeeeeabaaieeeeeeeaeeeesnssnnnnnn s o0aaaaenns 700
(vi) RIT TSI BT TTHRT ..o b e B 300
(VD) 8 STIRE BT .oeiiiiiiiiiiiiiiiiie e s e e 100
(viii) ol @I STMT S ool e e 6,000
(iX) TG BT FTT oo e e 8,000
(x) fagem & ™A@ WET S .o e (-) 20
&
&
32 Calculate Laaspeyre'%&e Index Number for the current year. 6
s % RpCARE ¥, e e w aRee B
Item @ Base Year Current Year
L MR a9 Tfad 99
Price Quantity Price Quantity
HHd CIE| HHd CIE]
i 3
X 8 40 10 60
Y 10 50 15 56
4 6 30 9 40
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